## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Enrollment - March)

RESOLUTION NO. <u>03-100</u>

1	WHEREAS,	the Tohono O'oo	dham Council has reviewed the recommendations of the					
2		Enrollment Committee in accordance with Section I of Article VIII of the						
3		Enrollment Ordinance, Ordinance No. 05-81, and has made a final determination						
4		that the application of the following applicant for membership in the Tohono						
5		O'odham Nation be approved:						
6		ARTICLE II - MEMBERSHIP						
7		SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS						
8								
9		3140-CK-03	JOHNSON, Duane Michael Jr.					
10 11		3608-GA-03	IOSE Domina					
12		3609-GA-03	JOSE, Remus ALBERT, Miranda A.					
13		3003-GA-03	ALDENI, MILAUGA A.					
14		2355-GV-03	DULIN, Nathan S.					
15								
16		1968-H-00	JUAN, Alyssia M.					
17		1990-H-00	RAMIREZ, Jaime C. Jr.					
18		2082-H-03	POLINGYUMPTEWA, La'Nae J.					
19		2085-H-03	PETERS, Sabrina E.					
20								
21		2140-P-03	OSBORNE, Erikiah K. Jr.					
22		2141-P-03	MORENO, Andria J.					
23								
24		2106-GB-02	NUNEZ-SALCIDO, Isaac					
25 26		2151 CV 00	HEDNANDEZ Domon M					
2 <del>7</del>		2151-SX-00 2274-SX-02	HERNANDEZ, Damon M. ANDERSON, DeAngelo L.					
28		2285-SX-03	HERNANDEZ, Jason T.					
29		2203-521-03	HERICA (DEZ., Justin I.					
30		1825-ST-03	ARKIE, Scott E.					
31			,					
32		4897-S-02	GEARY, William S.					
33		4934-S-02	SANCHEZ, Jaiden B.					
34		4941-S-03	LOPEZ, Veronica R.					
35								
36		2263-SO-01	MURPHY, Sharmane N.					
37		2321-80-03	VAVAGES, Francisco P.					
38		2322-SO-03	JUAN, Cameron Marcus Jr.					
39		2323-SO-03	JAMES, John G.					
40		2324-SO-03	DAVIS, Makeya Anika					
41		2325-SO-03	HODGE, Anita LaSha					
42 43		2326-SO-03	JUAN, Geneva M.					
44		7739-ND-03	GIL-ZARATE, Arturo					
45		7745-ND-03	GIL-ZARATE, AITUIO GIL-ZARATE, Zitlali D.					
46		7746-ND-03	RAMOS, Adan					
47		7749-ND-03	CASTANEDA-BEJARANO, Evelin V.					
48		7747-ND-03	MURRIETA-MONTOYA, Rosa H.					
49		7748-ND-03	MURRIETA-MONTOYA, Jose M.					
	II .							

	RESOLUTION NO. <u>03-100</u> (Enrollment - March) Page 2 of 3									
1 2 3	ARTICLE II - MEMBERSHIP SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS									
4 5 6	7750-ND-03 MURRIETA-MONTOYA, Guadalupe 7751-ND-03 SALAZAR-MARCIAL, Jesus A.									
7	NOW, THEREFORE, BE IT RESOLVED that it is hereby determined that the above named applicant									
8	is eligible for enrollment as a member of the Tohono O'odham Nation under									
9	Section 1(a) or (b) of Article II of the Constitution of the Tohono O'odham Nation,									
10	and that their application is approved, as herein above indicated.									
11	BE IT FURTHER RESOLVED that the Chairman and other appropriate officers of the Tohono									
12	O'odham Nation reduce this final determination in writing regarding each of the									
13	foregoing applications for enrollment in accordance with Section 1(a) of Article									
14	XIII of the Enrollment Ordinance; give notice of this Council's determination in									
15	accordance with Section 2 of Article XIII of the Enrollment Ordinance; and place									
16	the names of each applicant upon the membership roll of the Tohono O'odham									
17	Nation in accordance with Sections 2 and 3 of Article X of the Enrollment									
18	Ordinance.									
19 20 21 22 23 24 25 26	The foregoing Resolution was passed by the Tohono O'Odham Legislative Council on the <u>03<sup>RD</sup>.</u> Day of <u>MARCH</u> , <u>2003</u> at a meeting at which a quorum was present with a vote of <u>2,256.8</u> FOR; <u>-0-AGAINST</u> ; <u>-0-NOT VOTING</u> ; and <u>160.7 [05]</u> ABSENT, pursuant to the powers vested in the Council by Section 1 of Article II and Section 1(h) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).									
27	TOHONO O'ODHAM LEGISLATIVE COUNCIL									
28 29	I = I = I									
30	English to the									
31	Rita A. Martinez, Legisľative Chairwoman									
32 33	day of Meril , 20 53									
34										
35 36	ATTEST:									
37 38	Such									
39	Julianna Saraficio, Acting Legislative Secretary									
40 41	03 RD March 20 03.									

Odham Nation on the $\sqrt{.}$	nitted for approval to the office of the Chairman of the the day of fraction, 20 73 at 505 wisions of Section 5 of Article VII of the Constitution and will
	or upon his failure to either approve or disapprove it within a
f submittal.	
	TOHONO O'ODHAM LEGISLATIVE COUNCIL
	<b>/*</b> :
	Rita A. Martinez, Legislative Chairwoman
	Rita A. Martinez, Legislative Chairwoman
_	nt m
APPROVED	on the day of March, 2003
	at <u>2:02</u> o'clock, <u> </u>
] DISAPPROVED	at Arox o'clock, A.M.
	9/ 12/2
	Mary Mary
	EDWARD D. MANUEL, Chairman
	TOHONO O'ODHAM NATION
atmemad to the Logislative (	Secretary on the <u>07th</u> day of
	_
March, 2003	3_, at <u>4.'04</u> o'clock, <u>/</u> .M.
( such hi	_
lianna Saraficio, Acting Le	egislative Secretary
	-

ACTION: ENROLLMENT - MARCH

MOVED: COUNCILWOMAN FERN SALCIDO SECOND: VICE CHAIRMAN CAMILLUS LOPEZ

**DATE:** MARCH 03, 2003

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. FRANCES MIGUEL	158.85	X			
317.7	2. FRANCES G. ANTONE (Lucilda Norris-Valenzuela)	158.85	X			
CHUKUT KUK 248.1	KENNETH WILLIAMS     (Juanita Homer)     DAVID GARCIA	124.05	X			х
	(Mary Audrey Juan)	124.05	X			
GU ACHI 230.7	1. CAMILLUS LOPEZ	115.35	X			
	2. JEROME JOAQUIN ( )	115.35	X			
GU VO 188.3	1. FERN SALCIDO	94.15	X			
	2. EMILIO LEWIS (Michael Flores)	94.15	X			
HICKIWAN	1. SHIRLEY MOLINA	83.65	x			
167.3	2. SANDRA ORTEGA	83.65	X			x
PISINEMO	1. BARBARA SALVICIO (Alex Antone)	87.35	X			
174.7	2. PATRICIA CRUZ (Johnson Jose)	87.35	x			
SAN LUCY	1. ALBERT MANUEL, JR. (John W. Lawson, Sr.)	80.35				x
160.7	2. GLORIA RAMIREZ	80.35				x
SAN XAVIER 184.7	1. FELICIA NUÑEZ ( )	92.35	X			
	2. DENNIS RAMON ( )	92.35	x			
SCHUK TOAK 144.5	1. MARY FLORES	72.25	X			X
177.5	2. AMBROSE ENCINAS (Frances B. Conde(Francisco))	72.25	x			
SELLS	1. DENNIS E. JOSE	208.05	X			
416.1	2. EVELYN JUAN ( )	208.05	X			
SIF OIDAK	1. ISIDRO LOPEZ	92.35	х			
184.7	(Nicholas Jose) 2. RITA MARTINEZ ()	92.35	x			
	TOTAL	2,417.5	2,256.8	-0-	-0-	160.7 [05

<sup>\*\*</sup>PASSED VOTES